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Module Test 1 

Task 1. Open brackets using correct tenses. 

1. Harry (wake) early on Saturday morning and (lie) for a while thinking about the 

coming match. He (be) nervous since Monday, mainly at the thought of what Wood (say) if the 

team (lose). He never (want) to beat Slytherin so badly. He (get) up, (dress), and (go) down to 

breakfast early, where he (find) the rest of the team. They (sit) at the long, empty table. Nobody 

(talk).  

2. A week later, Harry, Snape and Ron (walk) across the Entrance Hall when they (see) a 

small knot of people who (gather) around the notice-board and (read) a piece of parchment that 

just (pin up). <They (start) a Duelling Club!= (say) Ron. <First meeting tonight! I not (mind) 

duelling lessons, they (may) come in handy one of these days. We (go)?= Harry and Snape (be) 
all for it, so at eight o’clock that evening they (hurry) back to the Great Hall. <I wonder who 
(teach) us? I hope it (be) Frederick,= said Snape. 
 

Task 2. Translate into English. 

1. �>340 O (?@85E0BL) 2 �>=4>=, O (C65 70:>=G8BL) A2>N @01>BC 2 4@C3>< 
3>@>45. 

2. �>340 O (?>A5B8BL) MB>B 3>@>4 2 A;54CNI89 @07, O (>1O70B5;L=> C2845BL) MB>B 
<C759. 

3. "= 2A5340 (8=B5@5A>20BLAO) D8;>A>D859 8 A59G0A (G8B0BL) :=83C ?> MB>9 
B5<5. 



4. �>340 >=0 (?@89B8) 4><>9, >=0 (70<5B8BL), GB> :B>-B> (>AB028BL) 59 70?8A:C. 
5. �A5 5I5 (1>@>BLAO) A ?>A;54AB28O<8 B>3>, GB> >=8 (@5H8BL) ?@8=OBL 206=>5 

@5H5=85. 
6. #>:0 >=8 (640BL) 02B>1CA, >=8 (70<5G0BL), :0: =0G8=05B (84B8) 4>64L. 
7.  K (?@>25AB8) 70<5G0B5;L=>5 2@5<O, ?>:0 >6840;8, GB> >=8 (2>72@0B8BLAO). 
8. "= (C65 ?8A0BL) ?8AL<>, :>340 O (2>9B8) 2 53> :018=5B. 
9. �>340 >=0 (1KBL) <>;>4>9, >=0 (<5GB0BL) > :0@L5@5 2 <C7K:5. 
10. "=0 (=8:>340 =5 2845BL) B0:85 :@0A82K5 3>@K, :0: 2 B>B 45=L, :>340 >=8 

(?>5E0BL) 2 ?>E>4. 
11. #>:0 >=8 (3>B>28BL) >154, >=0 (@0AA:07K20BL) 5<C 8=B5@5A=K5 8AB>@88. 
12. "= A:070;, GB> >= (70:>=G8BL) @01>BC : B><C 2@5<5=8, :>340 >=8 (?@89B8) 

4><>9. 
13.  K (G0AB> 2845BL) 8E 2<5AB5, => =5402=> >=8 (?5@5AB0BL) >1I0BLAO. 
14. �>340 >=8 (?5@55E0BL) 2 =>2K9 3>@>4, >=8 (=0G0BL) =>2CN 3;02C 2 A2>59 

687=8. 
15. "=0 (=8:>340 =5 A;KH0BL) > B0:>9 :=835, ?>:0 O 59 =5 (?>40@8BL). 

 

Module Test 2 

 

Task 1. Choose the correct item. 

1. The Adventures of Tom Sawyer ...... by Mark Twain. 

A is written         B was written             C has been written 

2 ...... that he was a great athlete when he was young. 

A It is said           B He is said                C He was said 

3 Mum couldn't take the car. It .... . 

A was repaired          B was being repaired           C has been repaired 

4. I didn't know about the meeting because 

A haven't been told         B hadn't been told             C had been told 

5. If you ..... hungry, make a sandwich. 

A be                           B were                       C  are 

6 I'll phone you ...... I get to the train station. 

A if                          B when                        C until 

7. I had fallen asleep .... they got home. 

A by the time            B when                C until 

8. I ...... you if I had known your number. 

A would call              B will call           C would have called 

9. I wish he ...... the music so loudly. 

A wouldn't play          B won't play        C would play 

10. I wish I ...... to buy a new car. 

A can afford               B could afford      C would afford 

11 Paula ...... going to the beach at the weekend. 

A promised                 B suggested          C warned 

12 John is very honest. He always ....... the truth. 

A told                             B says                C  tells 

13 Tom's mum &&.. him not to touch the iron. 



A warned                        B invited           C  offered 

14 She &&.. me where I had been all day. 
A told                              B said                C asked 

15. &&& you wear warm clothes, you will catch a cold. 
A Unless                          B If                   C Providing 

 

Task 2. Translate into English. 

1. �5 2A5340 E20;OB 70 @01>BC, 8 MB> ?@87=05BAO 2A5<8 :>;;530<8. 2."/ 1K ?><>3 
B515 A C68=><, 5A;8 E>G5HL" ?@54;>68; �65:. 3. "= A:070;, GB> 53> :=83C 87404CB 2 
A;54CNI5< <5AOF5. 4. "!5 <>3;8 1K 2K ?>A<>B@5BL =0 <>N ?@575=B0F8N?" ‒ ?>?@>A8;0 
>=0. 5.  K 1K;8 @07>G0@>20=K, GB> <5@>?@8OB85 >B<5=8;>AL 87-70 ?;>E>9 ?>3>4K. 6. "= 
2A5340 <5GB0; > B><, GB>1K 53> 8458 2>?;>I0;8AL 2 687=L. 7. "/ ?>72>=N B515 702B@0," 
>15I0; >=. 8. �A;8 1K O 7=0;0 >1 MB>< @0=LH5, O 1K ?@54C?@548;0 B51O. 9. "= A:070;, GB> 
5<C =@028BAO 845O ?@>2545=8O 2AB@5G8 2 =>2>< <5AB5. 10.  K 1K;8 C25@5=K, GB> =0H8 
2>?@>AK 1C4CB @0AA<>B@5=K =0 A;54CNI5< A>1@0=88. 11. "=0 2K@078;0 =04564C, GB> 55 
?@54;>65=85 @0AA<>B@OB =0 A;54CNI59 =545;5. 12. "= 2A5340 3>2>@8B, GB> A =5B5@?5=85< 
645B ;5B=8E :0=8:C;. 13. " K A45;0;8 2Aё 2>7<>6=>5 4;O @5H5=8O MB>9 ?@>1;5<K," 
70O28; 48@5:B>@. 14. "=0 A:070;0, GB> =5 70<5B8;0 53> 2 :><=0B5, ?>B><C GB> >=0 1K;0 
A;8H:>< 70=OB0. 15. "/ 1K 2KCG8;AO =0 ?@>3@0<<8AB0, 5A;8 1K C <5=O 1K;> 1>;LH5 
2@5<5=8," A:070; >=. 

 

Module Test 3 

 

I. . Rephrase the following situations using an appropriate modal verb as in the 

example: 

Example: It is not possible that he has finished already. 

He can’t have finished already. 
 

1. It was not necessary for you to give him a present. 

2. I advise you to stop eating chocolate. 

3. I insist on you doing your homework. 

4. It was wrong of him to kick this dog. 

5. It is possible that she has already phoned him. 

6. I will take the dog out if you like. 

7. Will you let me speak to John, please? 

8. It is possible that he is lying. 

9. He was not able to write until he was eight. 

10. Talking is not permitted during the test. 

 

II. Insert  modal verbs (use contracted forms where necessary). 

1. Won’t you sit down, Mr. Anderson? I & have asked you before; but I’m so 
troubled. 

2. I went over to the window. The pavements were damp and reflected the yellow 

light. It & have rained today. 



3. Hash! He’s still asleep. What & we to do when he wakes? & we go up to him 
and wait for it? 

4. <Did you & to take a cab?= No, there was nothing much to bring.= 
5. Mrs. Ferse asked him if he had had dinner, but he & speak, he sat with his eyes 

closed. 

6. < & I ask,= he said,= what it is that is bothering you, my dear?= 
7. <You & not have done that, Father,= Mrs. Smith said. <After all, we do pay him 

to watch the house.= 
8. You & not to tell Dad what I told you, Mother. 
9. He told me that he would be glad if I & come. 
10.  Forester & nowhere to be seen. 
 

III. Translate the sentences into English, using modal verbs. 

1. «!5 <>65B 1KBL, GB>1K >= ?>B5@O; 8=B5@5A : @01>B5, =5 <>65B 1KBL, GB>1K 
>= 4C<0; B>;L:> > 45=L30E», – 4C<0;0 >=0. 

2. "= 4C<0;, GB> 2<5AB> B>3>, GB>1K A5@48BLAO =0 =53>, 59 A;54>20;> 1K 
@04>20BLAO 53> CA?5EC. 

3. «"=0 <>3;0 1K ?>4C<0BL > B><, :0: ?>;CGH5 >1AB028BL =0HC :20@B8@C 
B5?5@L, :>340 <K <>65< ?>72>;8BL A515 MB>», – 4C<0; >=. 

4. "= A:070;, GB> 4>;65= A?5H8BL, 8 CH5;, =5 4>6402H8AL 55 >B25B0. 
5. �G5@0 25G5@>< O 2845; 53> 65=C. �5 <>6=> 1K;> ?@8=OBL 70 D@0=FC65=:C.  
 

Module Test 4 

 

I. Put the verbs in brackets in the correct form of gerund or infinitive. 

1. He is getting tired. He needs (take) a break. 

2. Our grandmother prefers (read). 

3. I remember (play) with teddy-bears when I was a child. 

4. Don’t forget (do) your hometask today! 
5. She was advised (find) a new flat. 

6. Oh, please don’t mind (be) alone. 
7. Our child started (talk) when he was nineteen months old. 

8. We will wait for you. Finish (do) your work. 

9. Sometimes she avoids (look) at me if she doesn’t want (answer) my questions. 
10. Alex can’t stand (have to wait) long.      

 

II. Translate into English using the verbs in the form of infinitive or participle. 

1. $07@5H8B5, ?>60;C9AB0, 27OBL MBC :=83C A59G0A. 
2. "= =5 >6840;, GB> O B0: 1KAB@> C94C. 
3. "=0 A;KH0;0, :0: C5E0;0 53> <0H8=0. 
4. �3> ?8AL<0 >1KG=> 70AB02;O;8 55 A<5OBLAO. 
5. �>2>@OB, GB> >= ;CGH89 4>:B>@ 2 =0H5< 3>@>45. 
6. %;KH0;8, GB> >= 2A:>@5 ?>4=O;AO =025@E. 
7.  =>385 87 ?0AA068@>2, ?>-2848<><C, 1K;8 BC@8AB0<8. 
8. �5BO< =5 @07@5H0;>AL B@>30BL :@>;8:>2. 



9. #@54?>;030;>AL, GB> <K 2AB@5B8<AO 2 H5ABL G0A>2 >:>;> H:>;K. 
10. %;CG8;>AL B0:, GB> <5=O =5 1K;> 4><0, :>340 >= 72>=8;. 
11. �K E>B8B5, GB>1K O A:070;0 5<C >1 MB>< A53>4=O? 
12. /, :065BAO, E>@>H> 7=0N 20A. /, 4>;6=> 1KBL, 2AB@5G0; 20A C A2>8E 

@>48B5;59. 
13. "=0 2845;0, :0: &>< 2KH5; 87 2>@>B 2<5AB5 A> A2>59 A5AB@>9. 
14. "=0 ?>A<>B@5;0 =0 53> ?>=>H5==K9 :>ABN<. 
15. "= GC2AB2>20;, :0: C =53> 4@>60;8 @C:8.     

 

2.2. "J9ABKAO9 ED98EF64 8?S CDB@9:GFBKAB= 4FF9EF4J<< (;4K9F) 
 

Task 1. Open the brackets 

1. She (study) hard every day to pass the upcoming exam. 

2. Last year, we (travel) to Japan and (explore) many beautiful places. 

3. If I (know) about the traffic, I (leave) home earlier. 

4. "I (meet) him at the airport tomorrow," she said. 

5. The new shopping mall (open) next month, and everyone (excited) about it. 

6. If I (be) a bird, I (fly) to exotic places. 

7. He always (complain) about the noise from the construction site next door. 

8. The assignment (complete) by the time you return from lunch. 

9. She (wish) she (have) more time to spend with her family. 

10. "I (not hear) about the changes," he (say) in surprise. 

 

Task 2. Translate into English 

1. / ?>72>=N B515 702B@0, :0: B>;L:> 70:>=GC @01>BC. 
2. "=0 2A5340 @0AA:07K205B A2>8< 4@C7LO< > A2>8E 8=B5@5A=KE ?@8:;NG5=8OE. 
3. �A;8 1K BK ?>4A:070;0 <=5, O 1K ?>=O; 7040GC 1KAB@55. 
4. "/ A>18@0NAL 2 181;8>B5:C," A:070; &><. 
5. "= G8B0; MBC :=83C 25AL <5AOF, 8 A53>4=O >= ?>45;8BAO A2>8<8 

2?5G0B;5=8O<8. 
6. !0 20H5< <5AB5, O 1K =5 45;0; MB>3>. 
7. "= 2A5340 3>2>@8B <=5, GB> <5GB05B > ?>574:5 2 �2AB@0;8N. 
8. -BC :=83C <=5 ?>@5:><5=4>20; 4@C3><, 8 O @5H8; ?@>G8B0BL 55. 
9. "= 70@01>B0; <=>3> 45=53, :>340 @01>B0; 2 B5E=>;>38G5A:>9 :><?0=88. 
10. "/ ?@84C 25G5@><," A:070;0 >=0. 

 

 

"J9ABKAO9 ED98EF64 8?S CDB@9:GFBKAB= 4FF9EF4J<< (Q>;4@9A) 
 

1. Sentence structure in English: basic elements and word order. 

2. Use of articles: differences between "a," "an," and "the." "zero article": when not to 

use the article. 

3. What are the rules for using articles with numerable and uncountable nouns? 

4. Comparative and superlatives of the adjective. 

5. Order of adjectives in the sentence. 

6. Formation of adverbs from adjectives. 



7. Adjectives and adverbs with two forms but different meanings. 

8. Word order of adverbs 

9. Quite, rather, fairly and pretty: meaning and usage. 

10. Name as many types of comparisons as you can. 

11. Mixed conditionals context. 

12. Grammatical forms of wishes. 

13. Forming questions. 

14. How to formulate questions using different types of interrogative words in English? 

15. Indirect questions form. 

16. Question tags and their meaning. 

17. When do we use Present Simple? 

18. When do we use Present Continuous? 

19. Name non-continuous verbs. 

20. When do we use Present Perfect? 

21. What are time expressions of Present Perfect? 

22. What is the difference between Present Perfect and Present Perfect Continuous? 

23. Give examples to illustrate each present tense. 

24. What is the difference between Present Perfect and Past Simple? 

25. When do we use Past Continuous? 

26. When do we use Past Perfect? 

27. When do we use past perfect Continuous? 

28. What is the difference between the use of will and be going to? 

29. When do we use Future Continuous? 

30. When do we use Future Perfect? 

31. What is the difference in use between Future Perfect and Future Perfect 

Continuous? 

32. When do we use the Passive voice instead of the Active Voice? 

33. What is the difference between the use of by and with in the Passive? 

34. Give examples to illustrate future forms. 

35. What are the rules of changing sentences from Active into the Passive? 

36. When do we use Future in the Past tenses?  

37. Sequence of times: Rules for the distribution of time forms. 

38. Rules for converting direct to indirect speech. 

39. Conditional clauses: Zero, first, second and third types. Rules of use. 

40. When do we use the Causative form? 

41. Name types of Infinitive and when do we use each of them. Give examples 

42. Name types of Gerund and when do we use each of them. Give examples 

43. Name three structures of building Complex object. 

44. When do we use Complex subject. 

45. Name all types of Participle I and when do we use each of them. Give examples 

46. Name all functions of Participle II and when do we use each of them. Give 

examples 

47. What are the rules of using to-infinitive? 

48. What are the rules of using ing-form? 

49. Name verbs taking to-infinitive or –ing form with a change in meaning. Give 

examples 



50. Give three examples of using MAY with different types of infinitive. Describe the 

meaning of a modal verb. 

51. Give three examples of using CAN with different types of infinitive. Describe the 

meaning of a modal verb. 

52. Give three examples of using MUST with different types of infinitive. Describe the 

meaning of a modal verb. 

53. May, can: differences in meaning. 

54. Give three examples of using HAVE TO with different types of infinitive. Describe 

the meaning of a modal verb. 

55. Must, have to: differences in meaning 

56. Give three examples of using TO BE with different types of infinitive. Describe the 

meaning of a modal verb. 

57. Give three examples of using NEED with different types of infinitive. Describe the 

meaning of a modal verb. 

58. Give three examples of using SHOULD/OUGHT TO with different types of 

infinitive. Describe the meaning of a modal verb. 

59. Give three examples of using EMOTIONAL SHOULD with different types of 

infinitive. Describe the meaning of a modal verb. 

60. Give three examples of using WILL as a modal verb. Describe the meaning of a 

modal verb. 

61. Give three examples of using DARE with different types of infinitive. Describe the 

meaning of a modal verb. 

62. «Used to» 8 «Would»: @07;8G8O 2 8A?>;L7>20=88. 
63. Give three examples of using three different Clauses (time, purpose, result). 

64. Give three examples of inversion. 

65. Features of adverbs: education and use. 

66. Use of "although," "even thought," "despite," and "in spite of": differences in 

meaning. 

67. Errors when using "so" and "such." 

68. Use of "few" and "a few," "little" and "a little." 

69. Time clauses. 

70. Constructions of "Either... or" and "Neither... nor": their use in sentences. 
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1.  Name three structures of building Complex object. 

2. Give three examples of using MUST with different types of infinitive. Describe the 

meaning of a modal verb. 

3. Translate:  1. "= 2A5340 3>2>@8B ?@024C, 8 MB> F5=8BAO 4@C38<8. 
2. "= 2A5340 3>2>@8B > B><, GB> E>G5B 87<5=8BL 2 A2>59 687=8. 
3.  K >AB0=02;820;8AL 2 >B5;5, :>340 ?@>87>H;0 020@8O. 

 

 
'B25@645=> =0 70A540=88 :0D54@K ....., ?@>B>:>; № ... >B ... ... 20__ 3>40 
�0254CNI89 :0D54@>9                  _________   !>28:>20 �.�. 
-:70<5=0B>@                                            _________  �0B0;LI8:>20 -... 
 


